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Circulation Anaiysis:; Revised Diagram
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The_ggyiseu Diagram

The basic circuit starts from outlay (0') on the far right,
moves along basic receipts (fR') to the basic transitional I
dévision of receipts (TR'), where il is cushioned by additions
or subt¥actions from the central redistributional area ((CR)
whence 1t moves along (fIl) to hasie¢ 1ncome (If), and thence along
fitor to basie outlay, where it may be increased by & positive
contribution from CR along fS' or, on the other hand, decreased
by the payment of a loan,

The surplus circuit starts from outlay (o") of the far right,
moves along surplus receipts (fR")} to the surplus redistributional
atea (TR“) where it may be augmoented by contributions from the
central redistributional area (CR) or diminished by payments
to it; thence it moves along fI" to I" and thence, in part, along
TEno" to surplus outlay (or) where it may be increased, or on
the other hand diminished along fgv,

Oover and above these circular movemnts there are the
crossovers: 1It'o" from basic to surplus-.for the waintenance,
widening, and deepening of basic producers goods and services;

?reh' and fIvg! for the standard of living of entredeuré and workers
[,

in the surplus circuit, A

When there occurs a crossover difference, then one circuit
is accelerating by decelerating the other:;; The result is a
very serious disequitibrium, and the longer it lasts the more
deleterious are its consequences,; Let us represent the crossover
difference by tg (= fy'or ~ £Ing'), Then, once crossover
| equilibrium is attained, thie condition of continued equilibrium
will be fGg = 0O,
* Again, let the bhasic propensity to consume, to invest, and
% © have to . - Dbe respectively: ct, i, 8', Now s'R' will be a.component
|

moving to CR along fD', so on the supposition that fp' still
remains a positive total, then
; £It = (o - it){fR' - fD1)
| f11or = ct(fRf - fnv)
frrgn 1r(fR| - fDI)
gimilarly, 1n the surplus circuit
. fin = (cn - in)(fRn - fDn)

fingr = cn(fnn - fDn)
fingn = iu(fRn - fD")
'}5 ﬂt should it happen the fpm or £ happen“to be a neagative quaq}ty,
the sign in these equations changes,
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